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y" -2y ' — 8y =e** +cosx

2. BRT 7Rz LR s 0 (15%)

0 o 4
f(t) = {SinfL(t —-m) t>m7

3. BABEEFATXY, Z) =x2+7y2+ 22
R (15%)
(1) BEHE(VT) (5%)
(2) PEs(1,-1,2) 2B E#E (5%)
(3) 7 86(1,-1,2)i5 Fp = 20+ 2j — kA & &Y F & F 31 (directional derivative) (5%)

4, FUHABLEBRTI MBI ZA 1 (15%)
X'=—4x+y+z x(0) =9
y' =x+5y-—z y(0) =7
z' =y -3z, z(0) =0

5. A — %i& R J&(consecutive reaction)4n F A7 © (25%)
ki K
ASB3C Hbk, #k
H &5 Bk 3% B 7 — M B (first order reaction) :
—1a = kyCy =15 = k(g — k1Cy

(D#FFE L A-Bf CEEMIFMSIEME - 3045 E E Ca=Cao, Ca=0, Cc=0 (15%)
(2)% B ALREFHBFZEY  MEHFLREGETEH BZRAER?(10%)

6. MBS IR RS TR ¢ (15%)

0’u  0*u
@+5§5:U 0<x<aq, 0<y<b
e DT
u0,y) =0
uta,y) =1
u(x,0) = f(x)
u(x,b) = g(x)
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— >~ B (BAY)

1 3R BR 2 AR 5 2 & (H) 5 f544:800 keal/kg, 34 18:1,200 keal/kg, # & 18:2,000 keal/kg; # 1k & 3%
I E& W=100 t/day - 35 M 284 X Q4 )2 LB A GHEL SV EF AR ?2A. 8333 m%,
B. 20.83 m?, C. 41.66 m?%, D. 166.66 m? °

T AT E A SR A R ATEEY 2 A. SO, B. PMys, C. & % =4, D. 8% B3 o

ARSERER T 6§ A4 2 A, 100-200 Hz, B. 20-100 Hz, C. 20-200 Hz, D. 10-100 Hz -

FAMTEEEARAERLGAZESAE? AL COz, B. 03, C. PM2s, D. NOx »

FAMT AR R SBEIE A E? A HEE Lk, B. 4 1b5%, C, pump and treat, D.
ik e

6. 3 F AR B R A AR I T AZARIRE A X B PIAR 0 RIS S R2 mx E I H R A8 )
2z R2nmzZ B R 0 ok A T84 AL #he10%4E, B. 3101342, C. 80 10%4%, D.
&P 10134z -

7HEBAFZEETAANMEERAE  ARERRTHEFARELE? A, £ EET, B B EH4E
F16,C. R E 45, D. BB s - )

8. EEE T EAMEF ZAIIB TH—E FTFueiA60dB » Bt B ES TR E2 T
& A.60,B.75, C.87, D,80dB -

9. —BEAKECEHEMRAES 2,000 mP/day » 8RR A KT BOD %300 me/L ¢ & IE AT
BOD#%20mg/L » /> FBODx & £0.40kgim R » 7E M5 RE A8 H AR A600m® » Al 5%
& 45 (F/V) 47 2 A.10,B.2,C. 0.1, D. 1.0 kg BOD/m? -

10. SHFEHAFEEZRA T LD B U FTAES » P EPasquill KRB E ST > HEFRIT L
WA E 5T A A%, B.B#, C.C4,D. D& -
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11. F 54T & 2 B A B K 4% %5 B B 4%(Sustainable Development Goals, SDGs)? A. Gender Equality, B.
Reduced Inequalities, C. City mining, D. Big Data, E. Life Below Water -

2. BB AERAREARBAGHRERAZ— > THMEHFAALZREGRE? A MR35 4
,B. SR e, C SRAKER,D. BAEIESL, E REALIEE -

B3.BREFMALETNE XL LIBRICTRFEMER LA £45,B. F#ibddh, CaTHAMLE M,
D. 2% E.PPCPs (fEAB¥H &) -

14. River pollution index (RPI) L, 4R eb3B8 H? A, Af 8, B. 4L E 42, C. B3 E,D. (L2 F
% ,E.2AF -

15 b ERAHMABRNEAFTLEZRRZ— > T ITE B 58w 555 de 2 15 #3247
A EREE B #E4EH,C.SCR,D. Fts, E LA -

16. Bp i B2 ARE BARA TRk ? A, & £16, B. 221k, C. 3 E16, D. EiRIL, E. R &1L -

17. T4 AR ERBAETREEMETHAAE T AM? A —f4b5, B. 2 A5, C. =&
LR, D. Z 8 F%,E. —a4f -

18. ZAAMETAH A ARG IERCEE  REALAZRAAGATRAMK IR EATH AR
Feth o T 3T H B &k = B 4b4k(nano-TiO2)#) B 6948 25?2 A. 45 % (bandgap)/|\, B. & % &) i A #)
A, C g RN D Bg e ibse 1,E &M -

19. FIRRIEMAZY » FRIEE BB A IR EEHMAY, B. BIKFRAKE, C. DBk
FXARE A Y, D AR 2k, E. R FRE -

20. T T & A sk 8162 128 R ? A. Catalysis, B. Less hazardous synthesis, C. Cradle-to-cradle design,
D. Atom Economy, E. Safer solvents and auxiliaries o
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